ZHEERH(6)

N [ e 3 A5 FH R
R5
X I £ T & B (Ea of) BE () fif A 31
77 R— A E S 116. 84 30[4/1~3/31
U > — MNARKREAPT | B iRk 4,12 5[4/1~3/31 - 12/1~3/31
A ENT H IR 1.71 2[4/1~3/31
=y s M EE R 0. 83 14/1~11/30
v s = 7 OFRKER| B Rk 1.35 1[4/1~11/30
R TR EE 2. 13 4]4/1~3/31
75 v KA 7 B ke 2. 44 ol4/1~11/30
T &
INEINA T
it 129. 42 45
R (1) 14, 768
X 1 {1 T g HE (mfg of) BdE () fel U1 1]
7T K— A FEIE AN — R 671.28 714/1~3/31
U Y — NAREKREEFT [FE)5 AN — %% 273. 7 5[12/1~3/31
A ZINTT FEJE A AR— A 0.6 1[{4/1~3/31
7 = A DFRIRFHBR
vy = 7 DR
AR A Fo)E A — A% 93. 55 4]4/1~3/31
70 KA 785|585 AX— X 3.78 1[4/1~11/30
ha 4=
it 1042. 91 18
AR (1) 2,193, 175
R4
X1 1 T & B (A o) s () fe U1 1A
7T F—A H iRpE S 118. 29 33]4/1~3/31
U > — NAREKELET | B g 51.76 9l4/1~3/31 - 12/1~3/31
A ZNET H iRpE S 1.71 2l4/1~3/31
F = AR |8 % 0.83 114/1~<11/30
v = 7 OFfKER | B B 1.35 114/1~11/30
T ER S 2.13 4]4/1~3/31
75y Ra 78| B I 2. 44 ol4/1~11/30
ha 4=
NN PIT
il 178.51 52
AR (1) 16, 852
X B [ T S B (A o) PBrE () 155 FH 1 14
77 R— FENE A A — 678. 22 8l4/1~3/31
U > — NABKRERPT |78 )5 A — A% 241. 36 6[12/1~3/31
A ZNET
7T = A DFIRER
v = 7 DRRIKEAR
TR FEIE A~ — A 93. 55 4]4/1~3/31
75 v KA 78|58 E A=A 3. 78 14/1~11/30
T4 [=]
it 1016. 91 19
AR (1) 2,310, 321




R3

X 1 {4 T Hs& A (ke o)EE () fi A 31

7T K— A EES 118. 29 33[4/1~3/31

U > — NAREKREET | B i 51.76 9l4/1~3/31 - 12/1~3/31

A BN H I 1.71 2[4/1~3/31

T = ADIRTEB | B b 0.83 14/1~11/30

v 7 = 7 OfkERE | B IR 1.35 1{4/1~11/30

BB AR H IS 2.13 4]4/1~3/31

770y KA 75 [H IS 2. 44 ol4/1~11/30

T &

NN T

it 178.51 52

AR (1) 17, 284
X B [ T FHig A (mfE )R E () fif A 3

Vv }\—A FIE AR — A 678. 22 8]4/1~3/31

U~ — N ANBRERET |50 A< — A% 241. 36 6[12/1~3/31

EZNT

T = A DRIRER

vy = 7 DR

AR AE Fo)E A — A% 93. 55 4]4/1~3/31

7oy Ra 78 |5E)EAR— 2 3.78 1{4/1~11/30

ha 4=

it 1016. 91 19

AR (1) 2, 440, 041




